=
>
Q

2% 2 of

0x
or

e X

2. ©2I(31H) - MIRA - ofl &t i HIDEZ
87,128,112 81,930,829 5,197,283
= 22,780,570
[ 1,700,000
Il 36,699,865
= 25,947,677
g4s 10,096,042 9,884,720 211,322
= 60,173
Il 5,454,245
[ 4,581,624
gFFsgt 25 & gds5He N 1,682,540 2,002,416 N409,876
Hgdy = 96,000 99,300 3,300
201 &Er2E | 23,960 26,000 2,040
01 AF22t2ltl 23,960 26,000 A2,040
3N =29 23,960
3,000 6,800 A3,800
LHOABI 3,000 6.800 A3,800
g3 25 =X 3,000
& 4,000 5,000 A1,000
P RFEH 4,000 5,000 1,000
SEAE AR = 4,000
AHHSoIH 65,040 61,500 3,540
AHHBEExS 65,040 61,500 3,540
ZHl2s=E 75 N& 65,040
&l d=8d 29 1,096,880 1,000,000 96,880
306 = 1,096,880 1,000,000 96,880
01 &= 1,096,880 1,000,000 96,880
Ost=0d+dd 29 1,096,880
ARISXDI2 - A8 28 =8 489,660 394,016 95,644
307 elzZtol 280,380 213,640 66,740
10 Al SXAEEE2EHI2x 21,780 0 21,780
O=E? AlISXII2 - AlE 21 HEH
= 21,780
11 AR SXIAE 2 X 258,600 213,640 44,960
OLHR ARSI SAEL MR =¢ 143,400
OZH? AISXIAIE SAL SX+=E 115,200
308 NXIEMS0IH 209,280 180,376 28,904
01 MAEHBLELS 209,280 180,376 28,904
ARISXIAIE SAHR SX+=& 172,800
ABIS X2 SAAF XL == 36,480
o 3t & & & 190,800 147,053 43,747
Hs =& 62,600 64,483 1,883
gl 20,100 20,100 0
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a3 =73 2A L GEE AR
M OETMY FLBS
el HEQIAES & o (CH M)
AR 2A - FY . SR(B) - MRAY - BES Ofl b i F[ImE==l
| oogrozaAY £7 1,500
CI8EUSTAIL 22 g 172,433 165,432 7,001
308 RXIEHHISO0IH 172,433 165,432 7,001
01 AXISHBLEES 172,433 165, 432 7,001
00 HAABTNY 29 172,433
CiPSTAIE 29 X2(HE) 123,140 112,200 10,940
307 21zl 123, 140 112,200 10,940
10 A= XA LB E 282 123,140 112,200 10,940
OO HAASTAIL 22 X2 123,140
CIEZATSH PDI0HE 2SN (XE) 18,000 18,000 0
307 QI2H0|H 18,000 18,000
EEENEEES 18,000 18,000
0082 WEH DI AN 18,000
CIEESTS 20101 22X 4,800 4,800
308 XHXIEHHISOIH 4,800 4,800
PG EREESS 4,800 4,800
O0EZ2ATE) IS 2SN 4,800
0H22 M3 1366MIEN 2(20)(NE) 720,79 699,858 20,940
p 360,399
= 360,399
307 QI2H0IH 720,798 699,858 20,940
p 360,399
= 360,399
EEESNSEES 720,7% 699,858 20,940
OO HASHE 136HE 2 720,798
| 360,399
= 360,399
OlM2I2 A 136BHIE JISEY(RD)(RE) 54,000 14,000 40,000
p 27,000
= 27,000
402 Q10| 54,000 14,000 40,000
p 27,000
= 27,000
EDENEEESIEIED 54,000 14,000 40,000
O01E2Z A3} 1366HIE Jls2Y 54,000
| 27,000
= 27,000
IIEE aes 29(2) 1,343,804 1,027,369 316,525
p 895,929
= 447,965
308 XHXIEHHISOI 1,343,804 1,027,369 316,525
p 89,929
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A= =x=2 SN OEEAEIIED
HH: GEFY YHBS
el HEQIAES & o (CH M)
AT A ZH . SR(E) - KIRAIY - BSS ol ke i fimE=T
= 447,965
01 AXSHBAEERS 1,343,8%4 1,027,369 316,525
OJEEH dga 29¢Y 1,343,8H4
| 895,929
= 447,965
IIEZSY Tloi A BSAIE 29(=21) 1,121,934 4,510 177,424
| 94,246
& 177,688
308 XX MSO0I& 1,121,934 44,510 177,424
J| 944,246
= 177,688
01 AXEHBLEES 1,121,934 944,510 177,424
OJIE =Y LIk BESAIE 29 993,080
| 817,831
= 175,249
QI =S Lok ESAIAE Hia== MAI 50,034
| 50,034
OJtE == It Y=l 13,820
| 11,381
== 2,439
QI3 == LIchA AHEEES 65,000
I 65,000
IS ZS Tioh A BsAA JIsE2(=21) 51,273 35,625 15,648
| 34,182
& 17,091
403 XX HMS =01 51,273 35,625 15,648
| 34,182
& 17,091
01 XIXISHH 22X 51,273 35,625 15,648
OJIE =4 Lokt ESAIE JIsE2 51,273
| 34,182
& 17,091
ZAUGHOE FAXE 2H(=1) 76,737 34,491 42,246
| 58,206
== 18,531
307 QI2H01 ™ 41,180 0 41,180
| 28,826
& 12,354
N ARI=SXNAIEE X 41,180 0 41,180
OZFHIlolod =HAA 29 41,180
J| 28,826
= 12,354
308 AEXISHMSOI& 35,557 34,491 1,066
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AR =112 SH OIS
HH: GEFY YHBS
Sel: HgeldeEs & oYy (CH M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
J 29,380
= 6,177
01 AXHH B EExS 35,557 34,491 1,066
OZLIlaid =HXA 2g 35,003
pJ 28,826
S 6,177
OZHIHHE FHXNH SUHESS 554
2l 554
IR E™ dlohAl XISsls T2 2 92H((2 1) 160,778 149,429 11,349
Il 132,406
= 28,372
308 AXIHHISOIA 160,778 149,429 11,349
Il 132,406
= 28,372
01 MXHHBSExS 160,778 149,429 11,349
OJHEZHIt XZssE2 ] 123,774
Il 101,932
= 21,842
OIS =TGR 2 =] 37,004
pJ 30,474
S 6,530
MR ES DA nEXNSE20Y 2H9(20) 51,862 48,201 3,661
Il 42,710
[ 9,152
308 AHRIEHMISOIH 51,862 48,201 3,661
Il 42,710
= 9,152
01 HXHHBSEx= 51,862 48,201 3,661
OJIE=ZE Ittt EXNZEZ2IH 2 51,862
pJ 42,710
= 9,152
ZHol 0IFHE A 23 (=21) 247,206 236,886 10,320
Il 164,804
= 82,402
308 AR EHMS0IH 247,206 236,886 10,320
Il 164,804
[ 82,402
01 MXHHBE xS 247,206 236,886 10,320
O=H1lol 0IF0E o454 29 247,206
Il 164,804
= 82,402
mioH OI=0&E ESAIE 2(=1) 228,252 221,745 6,507
pJ 189,737

- 502 -




A= SX= M HEEAEIIEDL
HH: GEFY YHBS
el HEQIAES & o (CH M)
AT A ZH . SR(E) - KIRAIY - BSS ol ke i fimE=T
= 38,515
308 AXIHMSOIE 228,252 221,745 6,507
| 189,737
o= 38,515
01 IXSHHBAEELS 228,252 221,745 6,507
OZ=Ildl 0IFHE EsAld =24 218,252
| 179,737
& 38,515
O=glldl 0IF0E ESAIE ElAX X+
N 10,000
| 10,000
oigretl|de 29(=20)(2E) 2,226,024 2,279,886 AN53,862
| 1,558,217
& 667,807
307 QI2H0| A 2,226,024 2,279,886 A53,862
| 1,588,217
= 667,807
" AEI=SXAIEEXR 2,226,024 2,279,886 A53,862
OdfbtetI My 249 2,226,024
| 1,568,217
== 667,807
ofitteld | JIsE2(22)(HE) 17,990 99,790 281,800
I 8,9%
& 8,9%
402 SI2HR20] 17,990 99,790 281,800
| 8,995
& 8,9%
02 QIZHXH=AIS B 2 (0| T ) 17,990 99,790 281,800
OdlidtetI Ml JIs22 17,990
| 8,9%
= 8,9%
HESHTHA Y2 - S2HIE - 2UHIE2(=22)(F 197,000 190,000 7,000
=)
I 137,900
& 59,100
307 G120l 197,000 190,000 7,000
J| 137,900
= 59,100
" AEISXAIEEX 197,000 190,000 7,000
OdZ4dIolAt Z24E - S22 2UHIE 197,000
| 137,900
= 59,100
HEY AL 2H(=1) 313,092 241,377 71,715
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A= =x=2 SN OEEAEIIED
HH: GEFY YHBS
el HEQIAES & o (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
J| 208,728
& 104,364
308 AtXIEtMSO0IA 313,092 241,377 71,715
| 208,728
& 104,364
01 AXEHBLEES 313,092 241,377 71,715
od=Z4d Mg 2F 313,092
| 208,728
= 104,364
ool A= AgL 2H(=1) 136,757 132,021 4,736
| 91,171
& 45,586
308 AXIEtMS0IA 136,757 132,021 4,736
J| 91,171
& 45,586
01 AXESHNBLEEXS 136,757 132,021 4,736
OO 4= MEHA 2 136,757
| 91,171
= 45,586
HEZH Tk EsAlE 22(21) 176,79 170,749 6,050
| 147,178
o= 29,621
308 AXIHMSOI& 176,79 170,749 6,050
| 147,178
& 29,621
01 AXSHBAELS 176,799 170,749 6,050
O&=HIIoHA ESAE 2Y 167,852
I 138,231
& 29,621
OY =TI AF ESAIE Hl==Z X MAHUI 8,947
J| 8,947
AZS Mok ESAIE JIsE2(=21) 2,124 900 1,224
| 1,416
< 708
403 XIS HMS K201 2,124 900 1,224
| 1,416
= 708
01 XISHHAIZ2E X 2,124 900 1,224
SZSTINA ESAIE JIsEZ 2,124
| 1,416
== 708
H=E Tk X2 - g2 (=0) 25,305 40,876 A15,571
| 20,840
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A= SX= M HEEAEIIEDL
HH: GEFY YHBS
el HEQIAES & o (CH M)
AT A ZH . SR(E) - KIRAIY - BSS ol ke i fimE=T
= 4,465
308 AXIHMSOIE 25,305 40,876 215,571
| 20,840
o= 4,465
01 AXSHHBAEELS 25,305 40,876 A15,571
Od=ZHIIoA XIZ - ISE2 0 25,305
| 20,840
& 4,465
A== TolAF Q24| - 2HEE(=1) 59,194 64,724 25,530
| 48,748
= 10,446
308 KXIHMSOIH 59,194 64,724 25,530
| 48,748
< 10,446
01 AXSHBAEES 59,194 64,724 A5,530
O& =1l 2l=h| - 2HEY| 59,194
| 48,748
== 10,446
SOHOHTIGHAH XIRAIE L AEtA 2H(=21) 337,589 329,032 8,557
I 256,421
= 81,168
308 AtXIHMS0IH 337,589 329,032 8,557
J| 256,421
< 81,168
01 AXSHBLEES 337,589 329,032 8,557
OHOHOHIIGH AL KIRFAIE 23 199,927
| 164,646
< 35,281
OXODHOHINOH At AE A 2Y 137,662
| 91,775
& 45,887
SOHOHTISHA REXIRA(=1) 73,629 73,629 0
Il 60,636
< 12,993
308 KXISHMSOIH 73,629 73,629 0
| 60,636
< 12,993
01 AXSHBAEERS 73,629 73,629 0
OH& OHOHIIGHAH =K 73,629
| 60,636
== 12,993
AONOHTIGHAF XI2AIE JsE2(=21) 2,416 2,205 21
J| 1,611
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HH: GEFY YHBS
el HEQIAES & o (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 805
403 XIS MSKH=01 A 2,416 2,205 211
| 1,611
o= 805
01 AIXHAHA2EE 2,416 2,205 21
OXOHOHIIOHAt RIZAIE JISE2 2,416
| 1,611
& 805
A0H0H Tlolols - A4 XJAHEH 2H(210)(AE) 125,530 124,000 1,530
| 62,765
= 62,765
307 2I2t0I A 125,530 124,000 1,530
J| 62,765
= 62,765
" AR =SXAIEE X 125,530 124,000 1,530
OHOHOR Hmolots - HAY X2HYH 24 125,530
| 62,765
= 62,765
Z0H OFS - EAE A IAWR(ZD)(AA) 40,000 40,000 0
= 20,000
& 20,000
307 2I2+01 ™ 40,000 40,000 0
= 20,000
< 20,000
" ASI=SXAIEEE 40,000 40,000 0
OFOMOts - EAE & ClHWE 40,000
= 20,000
= 20,000
F0Pe ZHEoYus 2 (=20)(HY) 80,346 79,116 1,230
= 40,173
& 40,173
307 2I2to| A 80,346 79,116 1,230
= 40,173
& 40,173
" AEISXAIEE X 80,346 79,116 1,230
O0Pt= ZHMZuE 23 80,346
= 40,173
< 40,173
o QIXA 2Fol g tgu=s 8,500 4,400 4,100
201 ez | 8,500 4,400 4,100
01 At22telt| 8,500 4,400 4,100
OH eIXE 2T g HEw=s 8,500
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U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
CIS0ISAIE SEEY MleEs 15,000 15,000
308 AXIEHHSOIA 15,000 15,000
01 XN B EEExS 15,000 15,000
OAlIZAIY 24 15,000
AL MHIA X 5,000 0 5,000
201 LEr2E | 5,000 5,000
01 At22telt| 5,000 5,000
Ot MHIA X 5,000
CtEat 220t8 N2 51,192,740 49,562,253 1,630,487
= 19,014,962
[ 1,700,000
Il 23,924,756
& 6,553,022
CHEstE SEAR 2 2,738,061 2,609,118 128,943
Il 2,151,439
[ 586,622
Ci2st & A2t N3 UERD = 6,600 7,325 NT25
201 &Er=2E | 3,100 3,100 0
01 AtR2teldl 3,100 3,100 0
OlUt2st & 228 XA UWESRIA #5 3,100
202 04l 3,500 4,225 AT25
01 SLHAHLI 3,500 4,225 AT25
Ol=23 & AHFIHd NA UEHD 5 3,500
JEE =00 & UEiE K 823 =29 2,600 2,600 0
201 LEr2E | 2,600 2,600
01 At2:2telH| 2,600 2,600
o=l & OIS Ad g2l3 2,600
Ch23EE MHEole &4 9,897 11,200 1,303
308 AFXIEHMSOIE 9,897 11,200 1,303
01 MXHHBSE xS 9,897 11,200 A1,303
OZE0|2Xt o5 HEE 9,897
MIAIRIS] & DI Sl AL 32,310 32,310
307 eIzZtol 24,210 24,210
11 MEISXIAMPEE 24,210 24,210
OAIAIRIS & DAL 24,210
308 AXIHHSOIA 8,100 8,100
01 AXHHBSELS 8,100 8,100
OAIAIRIS] & JIEAL EOtYI 8,100
CI23E Mt2lSE XIE 104,920 101,420 3,500
308 AFXIEHMSOIE 104,920 101,420 3,500
01 MXHHBSEx= 104,920 101,420 3,500
OLtZst JIEXH &2us K& 44,920
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A= =x=2 SN O EAEIISD
B (123 ALY X
P Uh2ehs SEAtel 3 (S M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
OCI23 OSX® o2 s 20,000
OCH=3t Xr&I2tek Al 2eltial 20,000
Oott2st 2=+4 Oloigrs Z=2 1 20,000
CH23H SstAlg(=21) 2,581,734 2,454,263 127,471
| 2,151,439
& 430,29%
308 AtXIEtMSO0IA 2,581,734 2,454,263 127,471
| 2,151,439
& 430,295
01 IXESHNBLEEXS 2,581,734 2,454,263 127,471
OCIZ3ts UZUEXTAH X2 961,268
| 801,053
= 160,215
OUH2SItE AtcllZelAF X1 222,102
| 185,085
= 37,017
OZ=0|21X SHAXIZA XA 551,260
| 459,382
& 91,878
OU=E3NE AHLE XA X 448,519
| 373,768
= 74,751
OCHZ22ItE 0ISHUHEAL K& 209,585
| 174,651
& 34,934
OZ=0I2Xt 23K 189,000
| 157,500
& 31,500
CH2SISXIRAEH 22 6,187,465 13,043,8% A6,856,431
s 1,700,000
| 3,489,300
& 998, 165
2RACCO2IIIEXNR HELAH 29 150,000 126,000 24,000
307 2I2t0IA 150,000 126,000 24,000
" ASI=SXAIEE X 150,000 126,000 24,000
OLRA T U2II=EXJ HEHYH 24 126,000
OZALUE=KX 2212 AAX] g2t 24,000
IEHEH 29 132,625 116,916 15,709
308 AXIHMSOIA 82,625 81,916 709
01 AXIEHBAEES 82,625 81,916 709
63,960

OUR3INE YRUSIEZA MM

18,665
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A= =x=2 SN OEEAEIIED
B (123 ALY X
el UE=EXEdE 22 (9 ® )
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
403 NXIEHS K201 50,000 356,000 15,000
01 AXISHHA=Z2EXE 50,000 35,000 15,000
OJI=HE JIsE2 50,000
=M 28(21)(HE) 44,200 42,700 1,500
Jl 22,100
[ 22,100
307 2I2t01 & 44,200 42,700 1,500
Il 22,100
= 22,100
11 MeISXAMSEE 44,200 42,700 1,500
OZEU2IENE ABHH 24 44,200
Jl 22,100
= 22,100
JHELYH 28 (=21) 4,160,640 3,986,280 174,360
Il 3,467,200
S 693,440
308 MR EMS0IH 4,160,640 3,986,280 174,360
Il 3,467,200
[ 693,440
01 HXHHBExS 4,160,640 3,986,280 174,360
OIEHNEH 29 4,160,640
Il 3,467,200
= 693,440
JIEHE A48(2D) 1,700,000 8,772,000 AT7,072,000
[ 1,700,000
403 MRS AHE01H 1,700,000 8,772,000 A7,072,000
= 1,700,000
01 XM= EE 1,700,000 8,772,000 A7,072,000
OJtSHEH A 1,700,000
= 1,700,000
A20tE 23 &4 21,859,508 16,402,354 5,457,154
= 19,014,962
Il 538,142
= 2,306,404
2T IS 2yt 4,760 4,760 0
201 2828 4,760 4,760
01 At2t2/H] 4,760 4,760
OZ3 T It=es 245 X 4,760
Ol0lSE Z29de NE2E(20)(AE) 595,324 586,666 8,658
= 297,662
= 297,662
307 elztol 595,324 586,666 8,658
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A= =x=2 SN OEEAEIIED
HE: (123 ALY X
Rl AFIHE 2ot =4 EEECE))
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 297,662
= 297,662
11 MEISXAMEEER 595,324 586,666 8,658
Ootol== HSdH NE=23 595,324
= 297,662
S 297,662
OlOISS REAM(2D) 19,792,571 14,778,316 5,014,255
= 18,230,000
= 1,562,571
308 AXIHHISOIA 19,792,571 14,778,316 5,014,255
= 18,230,000
= 1,562,571
01 XM EX= 19,792,571 14,778,316 5,014,255
oololEs XIE A 19,792,571
= 18,230,000
= 1,562,571
SSOtLI=H 2F(=21) 807,213 658,152 149,061
Il 538,142
= 269,071
308 AXIHHSOIA 807,213 658,152 149,061
Jl 538,142
= 269,071
01 MAHHBSEXS 807,213 658,152 149,061
03s=s0Li=H 22 807,213
Jl 538,142
= 269,071
JIEESILEY XA (21) 460,920 374,460 86,460
= 384,100
S 76,820
308 AXIHHSOIA 460,920 374,460 86,460
= 384,100
S 76,820
01 HXHHBAExS 460,920 374,460 86,460
OrEsEHa A& At 460,920
= 384,100
& 76,820
ZEE OOISE0l LML KA 74,880 74,880
308 AFRIEHMSOIE 74,880 74,880
01 AN N B EES 74,880 74,880
OOtol==20l n&EHl Xs 74,880
HAESD ots2=H XY AIEAIE(Z21) 123,840 0 123,840
= 103,200
= 20,640
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AR =12 SH OIS
HE: (123 ALY X
el 2201 23 24 (9 ® )
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
308 XX HMSO0IA 123,840 0 123,840
= 103,200
S 20,640
01 AXHHBSELS 123,840 0 123,840
OFAHERI Ots2=H| K& 123,840
= 103,200
& 20,640
SIREIIE I3 =8 20,407,706 17,506,885 2,900,821
Il 17,745,875
= 2,661,831
MAas stR20tE Moty A& 404,000 384,251 19,749
301 L2 = 404,000 0 404,000
02 MBI EEHTS(FHAANS, NLEHH) 404,000 0 404,000
OMaS stR220tE daord X 404,000
ODIER - X HAFEIIZ 23 (20)(2E) 79,400 67,800 11,600
Il 39,700
= 39,700
307 212t01™ 79,400 67,800 11,600
Il 39,700
< 39,700
11 ARRISXAIE 22 79,400 67,800 11,600
ol - 24 HEII2 29 79,400
Il 39,700
= 39,700
HAEBRE ots2s ¥ NEAFME(21) 135,000 176,400 A41,400
J| 120,000
S 15,000
308 NHXIEMSO0IE 135,000 176,400 A41,400
Il 120,000
= 15,000
01 AXHHBSEES 135,000 176,400 241,400
OFAHESRER N 135,000
Il 120,000
& 15,000
SR RIIE OtsY=Hl € XJ(=1) 19,620,000 16,731,000 2,889,000
Il 17,440,000
= 2,180,000
308 XXIHMSO0IA 19,620,000 16,731,000 2,889,000
Il 17,440,000
S 2,180,000
01 XN B SELS 19,620,000 16,731,000 2,889,000
ORRIIE OS24l S Xd 19,620,000
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A= =x=2 SN O EAEIISD
B (123 ALY X
Chol: BRQIIE M Xz (o9l HE)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
Il 17,440,000
= 2,180,000
SIRLIIESRIAIE AT A - I2X|(21) 31,450 17,200 14,250
Jl 18,500
= 12,950
308 NHXIEMSO0IE 31,450 17,200 14,250
Il 18,500
& 12,950
01 MXHHBSEXS 31,450 17,200 14,250
OetRZINE=ANAIE 40 dEXNSXE 31,450
Il 18,500
= 12,950
SHREIIE IHYLUFE FAHXE (=) 77,780 66,300 11,480
Il 77,780
308 AXIHHISOIA 77,780 66,300 11,480
Il 77,780
01 XN B SELS 77,780 66,300 11,480
OFRIIE=SAAE HELUF=F=HA
el 77,780
Il 77,780
SIRQIIESIIAIL OOl MEIA XIA(=1) 27,300 34,9% AT,6%6
Il 21,000
= 6,300
308 NHXIEFMISOIE 27,300 34,99% AT,69%6
Il 21,000
[ 6,300
01 MXHHBSExS 27,300 34,9% AT,69%6
OetRZINE=AAIE O0ISSAHIA X 27,300
Il 21,000
= 6,300
SIERIIEEXAE ALRIESRY 212l X (21) 23,350 18,540 4,810
Il 23,350
308 AFXIEHMSOIE 23,350 18,540 4,810
Il 23,350
01 XM B EELS 23,350 18,540 4,810
OSRZINEZ=AAIE AS2RE 212 23,350
Il 23,350
SIRRIIESXAE JIsEZAE(=1) 9,426 10,398 AQ72
Il 5,545
S 3,881
403 TR EMSH=0lH 9,426 10,398 A972
Il 5,545
& 3,881
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e SN HAEAEIIED

ME: DI NE HAE 24

E;II P=ENS é’go_ELE]%” 24 EEEESED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t

| 1,000
& 1,000

SSEAE FAERIARRAS 2E(31) 33,000 33,000 0
| 33,000

308 AXIEMSO0IA 33,000 33,000 0
| 33,000

01 AXEHBAEES 33,000 33,000 0
OZ3=+eAE HAEURIRAAS 29 33,000
| 33,000

ANEHLAHENWI| P 2E (2 D) (HA) 10,000 10,000 0
| 5,000
= 5,000

307 212t01™ 10,000 10,000 0
| 5,000
o= 5,000

11 A= XA E X 10,000 10,000 0
OXNFHLAEHENWI I 2 10,000
| 5,000
& 5,000

NEHAEENI P 2H(=1) 25,200 25,200 0
| 25,200

308 AXIHMSOIA 25,200 25,200 0
| 25,200

01 AXEHBAEES 25,200 25,200 0
OXNGHELAEEHWHIIF? 22 25,200
| 25,200

HAEXTAF BHIXI X (=1) 526,168 523,024 3,144
| 526,168

308 AtXIEMS0IA 526,168 523,024 3,144
J| 526,168

01 AXSHBAEES 526,168 523,024 3,144
OZ3E+&AIE EAEXISTAF BHXI 526,168
| 526,168

HLAEHSEOY X2 (2D) 111,930 107,625 4,305
= 86,100
= 25,830

308 AtXISHMS0IH 111,930 107,625 4,305
= 86,100
== 25,830

01 IXSHHBAEES 111,930 107,625 4,305
o¥axdE H=280tE X& 111,930
= 86,100
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2,760
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57,600

386,455
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H
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18,092
18,002
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i

i
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10,252
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10,252
10,252
10,252
10,252
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10,252
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10,252
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178,224
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= 2= A HEEAEED
I Dl NE HAW 84
ool HAUES U NE BE (ool @)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
= 89,112
11 MEISXAMEEE 178,224 175,464 2,760
OFEaxY S T2 2 178,224
Il 89,112
& 89,112
HAESUI 220 2F(31) 377,636 373,856 3,780
Il 377,636
308 NHXIEFMISOIE 377,636 373,8% 3,780
Il 377,636
01 XN B SEES 377,636 373,85 3,780
OFAE SEN X208 29 377,636
Il 377,636
HAEMA RAR(F1)(HE) 397,766 3%4,876 2,890
7l 198,883
= 198,883
307 el2tol & 397,766 3%4,876 2,890
Jl 198,883
S 198,883
11 MEISXAEEE 397,766 3%4,876 2,890
OFAHAHNY X 397,766
Il 198,883
< 198,883
HAEOIMA AR(2 1) 663,083 650,885 12,198
Jl 663,083
308 KX M SOIE 663,083 650,885 12,198
Il 663,083
01 XN B2 RS 663,083 650,885 12,198
OFAEANL 1= 663,083
J| 663,083
Al 22(20)(2E) 2,033,670 1,975,594 58,076
Il 1,016,835
= 1,016,835
307 212+01& 2,033,670 1,975,594 58,076
Il 1,016,835
S 1,016,835
10 Al SXAIEEE2EHI2x 2,033,670 1,975,594 58,076
OFAHEH 22X 2,033,670
Il 1,016,835
& 1,016,835
HAEEH 29(=21) 701,535 681,860 19,675
Il 584,613
= 116,922
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= == 2N 0 8 EAEIED
I Dl NE HAW 84
ool HAUES U NE BE (ool @)
AR .S - FH . OP(BH) - IRAY - BAS 0l Ao i HRS2
308 XXM SOIH 166,280 160,826 5,454
J| 166,280
01 AXIHNEAMEETS 166,280 160,826 5,454
OFEAELZSHEH 29 166,280
J| 166,280
AW 22FALES A (Z2D)(2H) 100,000 0 100,000
= 50,000
= 50,000
307 CI2t0|A 100,000 0 100,000
= 50,000
= 50,000
11 AIZISXIAIE E X 100,000 0 100,000
OFAE 2Z2AHAUBS Al 100,000
= 50,000
& 50,000
HAEYNSOPIHIO 2E(20)(2E) 246,128 232,688 13,440
J| 123,064
& 123,064
307 Q1201 ™ 246,128 232,688 13,440
J| 123,064
= 123,064
11 Al S XA E X 246,128 232,688 13,440
O&FAE g =02tdI0l 29 246,128
J| 123,064
== 123,064
HAEYNSO0PHEHO 2E(=21) 2,679,437 1,763,209 916,228
J| 1,786,283
& 893,149
308 XIXIHHSOIH 2,679,437 1,763,209 916,228
J| 1,786,288
= 893,149
01 AXIHNENEETS 2,679,437 1,763,209 916,228
OFAHE L5040l 29 2,679,437
J| 1,786,288
< 893,149
HALUEUFoAdZAIE KR 29,556 29,556
307 QIZt0|A 29,556 29,556
11 AIRISXIAIE E X 29,556 29,556
oY HAERMHSZZAIY 18| XA 29,556
HAERNEY ZAIY KA (=2)(AY) 8,000 8,000 0
= 4,000
& 4,000
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ERE SN oA E
L o8 ezl X
g

Sl IEURRIAY 22 L XY EX (SHol: &)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 3,059,7%6
XA g2 2 XJ =& 6,101,271 7,660,901 A 1,559,630
= 2,951,059
| 90,416
& 3,059,7%6
MHE XE2G(=21) 2,958,572 2,926,248 32,324
= 2,710,980
= 247,592
308 AtXIHMSOI& 2,958,572 2,926,248 32,324
= 2,710,980
= 247,592
01 AXESHBAEES 2,958,572 2,926,248 32,324
OXPusEd Z2)H 29 846,000
= 846,000
OMEHALIEN 877,800
= 836,000
== 41,800
OMYHEH 2IXI& 1,234,772
= 1,028,980
& 205,792
22 AL Lo dE XIS 29 (=21) 480,158 467,415 12,743
= 240,079
= 240,079
308 AXIHMSOI& 480,158 467,415 12,743
= 240,079
= 240,079
11 SI|2S0ICHEHE & B E ALY 480,158 467,415 12,743
OZd ZAHLAMZ2 oM X8 24 480, 158
= 240,079
& 240,079
MEHEH JlsE22 50,000 10,000 40,000
403 XX MSKH=01& 50,000 10,000 40,000
01 AIXIHAA2EE 50,000 10,000 40,000
OSZEZMYMEH NE JIS2S 50,000
ZECUEWLH XA (21) 90,416 87,303 3,113
| 90,416
308 AtXIEMSO0IA 90,416 87,303 3,113
| 90,416
01 XN BAEES 90,416 87,303 3,113
OdHAGIZZ N 2Y 90,416
| 90,416
e Es X 2,003,700 3,725,000 21,721,300
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s SN OEEAEIIED
M od gXel N2
Rl od2neiag g2 & AE = (Gt ®2)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
201 &Et=2E| 30,000 30,000
01 At22t2IH] 30,000 30,000
ong+xgs 1= 30,000
202 O 1,500 2,000 A500
01 204 1,500 2,000 A500
ood28gs Ad 1,500
308 AXIHMSOIA 1,972,200 3,693,000 1,720,800
01 AXSHHBaEXS 1,972,200 3,693,000 1,720,800
oud-xgs N& 1,972,200
MEHE SAX MLIHS 95,040 95,880 A840
308 XXM SOIA 95,040 95,880 A840
01 XM B EXS 84,000 75,840 8,160
OMLHE SAHR MM K& 84,000
11 SIS0 U3 4 A AS A 11,040 20,040 /9,000
OMHIE SAL MHE X2 11,040
e el dXelmeg =8 6,400 8,000 A1,600
201 &Er=2E | 2,400 3,000 2600
01 AtR2teld] 2,400 3,000 A600
O0d - Z0HQ LXteIArE =& 2,400
202 04l 4,000 5,000 21,000
01 2LHOIHI 4,000 5,000 A1,000
O0d - o2l LXtelArg =& 4,000
el HE 23 336,985 341,055 24,070
308 AR EHMS0IH 336,985 341,055 24,070
01 HXHHBaEx= 336,985 341,055 A\4,070
ogelEiEdy =9 336,985
A Set Hdd=2ele 2y 80,000 0 80,000
308 AXIHMSOIA 80,000 80,000
11 BJ 2SS0 U E&EASAISH 80,000 80,000
OXgS3 HgdEes &y 80,000
HY2EZH(HEFEAEIIEL) 38,021 33,432 4,589
=&l 38,021 33,432 4,589
FA2E J1=22H 38,021 33,432 4,589
201 Ler=gl| 27,357 23,676 3,681
01 AtR2telH| 27,357 23,676 3,681
ORAMEE A cltl 27,357
202 04l 6,464 6,156 308
01 SN 6,464 6,156 308
ORAM2E =AY 6,464
203 B =8| 4,200 3,600 600
04 EA2HE =N 4,200 3,600 600
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